Computer Proficiency Certification Test

Notations :

1.Options shown in green color and with %" icon are correct.

2.0Options shown in red color and with * icon are incorrect.

Question Paper Name :

Subject Name :
Creation Date :
Duration :
Total Marks :
Display Marks:

Share Answer Key With Delivery Engine :

Actual Answer Key :

Calculator :

Magnifying Glass Required? :
Ruler Required? :

Eraser Required? :

Scratch Pad Required? :

Rough Sketch/Notepad Required? :
Protractor Required? :

Show Watermark on Console? :
Highlighter :

Auto Save on Console? ( SA type of questions will be always auto saved ) :

Group Number :
Group Id :

Computer Proficiency Certification Test 26th December 2021
Shift 1

Computer Proficiency Certification Test
2021-12-26 13:41:39

95

75

Yes

Yes

Yes

None

1
2549893154



Group Maximum Duration : 75

Group Minimum Duration : 75
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 75
Is this Group for Examiner? : No

COMPUTER PROFICIENCY AND PROFICIENCY IN GENERAL IT SKILLS AND

NETWORKING
Section Id : 2549895042
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52
Number of Questions to be attempted : 52
Section Marks : 52
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895083
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 25498943203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who is the main developer of Linux Operating System?
Options :

1. # Bill Gates

2. % Linus Torvalds



3. #* Sundar Pichai
4. % Ada Lovelace

Question Number : 1 Question Id : 25498943203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Linux 3R Ren &1 g7 fpredi o1 8 2
Options :

1. % fdd 1Y (Bill Gates)

2. ¢ fog TRareey (Linus Torvalds)

3. % Y UdTS (Sundar Pichai)

4. % UST AT (Ada Lovelace)

Question Number : 2 Question Id : 25498943204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The process of preparing a floppy diskette for initial use is called
Options :

1. % assembling

2. % translating

3. # parsing

4. ¥ formatting

Question Number : 2 Question Id : 25498943204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT fEpe 1 RIS IudIT & 1T daR &3 &1 ufshar &1 EEIGI
Options :

1. % 3rYTEieT

2. % gigafd

3. % gIf



4. ¥ BRAT

Question Number : 3 Question Id : 25498943205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

With respect to a computer keyboard, ‘SysRq’ key is an abbreviation of key, which often shares the same key as the Print Screen key on
today's keyboards.

Options :

1. * System Requirement
2. #® Systematic Request
3. ¥ System Request

4. % Systematic Requirement

Question Number : 3 Question Id : 25498943205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HHR DlaTs & e T, 'SysRq Holl_ Folt BT If& A1 &, S SRR gad lats W fiie WhiH Fofl & THMH ol T12i Rl 8 |
Options :

1. % System Requirement (RI%ed Wﬁ‘)

2. # Systematic Request (ﬁl@% ﬁW}

3. ¥ System Request (&IW m’)

4. # Systematic Requirement @@W WI'CITEE)

Question Number : 4 Question Id : 25498943209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

By using which tab can you use special characters in an OpenOffice writer?
Options :

1. # View

2. ¥ Insert

3. % Edit

4. # File



Question Number : 4 Question Id : 25498943209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

{2 T ITUNT FRPb 3T WWW(Open Office writer)ﬁﬁm\’ﬁ&fﬁmmwwg?
Options :

1. % Y

2. ¢ T

3. % IfSe

4. % lgd

Question Number : 5 Question Id : 25498943269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is the diameter of Blu-ray Disc?
Options :

1. ¥ 120 mm

2. % 115 mm

3. % 110 mm

4. % 100 mm

Question Number : 5 Question Id : 25498943269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
1 &% o1 3 fha grar g2
Options :

1. % 120 mm

2. % 115 mm

3. % 110 mm

4. % 100 mm




Question Number : 6 Question Id : 25498943271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the true with reference to Read Only Memory?
Options :

1. ¥ Instructions that are required to start a computer are stored in ROM.
2. % ROM is volatile memory.

3. % ROM chips are only used in the computer.

4. % The information stored in ROM is temporary.

Question Number : 6 Question Id : 25498943271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e el AUt & T & fFafafed o 9 oF w1 gt 82

Options :

1. ¢ SR DI AT HRA & AT HTaRIH A ROM B TUEIT g B |
2. % ROM dicersd AHRI |

3. % ROM I &1 IUUNT had e H BIAT ] |

4. % ROM H TR TSGR /T Bl 8 |

Question Number : 7 Question Id : 25498943210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following operating systems has been developed by Microsoft Corporation?
Options :

1. ¥ Windows

2. % Novell

3. # Linux

4. ® Unix

Question Number : 7 Question Id : 25498943210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

fafeiRad 7 @ o a1 TmRfET Red Microsoft Corporation gIRT faefrd fovar mar um
Options :

1. ¥ Windows

2. % Novell

3. # Linux

4. % Unix

Question Number : 8 Question Id : 25498943212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

R language provides the environment for computing.
Options :

1. ¥ statistical

2. % parallel

3. % serial

4. ¥ peer-to-peer

Question Number : 8 Question Id : 25498943212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

RHNT W & foTU ATATaRUT (environment) W& HRal gl
Options :

1. ¢ Gikereia

2. ® MR

3. % guit

4. % YRR-CURR

Question Number : 9 Question Id : 25498943217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which technology was used in the first generation of computers?



Options :

1. # Transistor

2. % Microprocessor
3. ¥ Vacuum tube

4. % Integrated circuit

Question Number : 9 Question Id : 25498943217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SR oI e Uit # S1-3t g &1 IuaiT fear mar un

Options :

1. % TIfoReR

2. % HIZDHIYRR

3. ¥ JEgA S

[a¥nY

4. % 30 E gfdbe

Question Number : 10 Question Id : 25498943219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which language contains instructions in binary form?
Options :

1. ¥ Machine language

2. % Assembly language

3. % High-level language

4. ¥ Middle-level language

Question Number : 10 Question Id : 25498943219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
fogt HreT H fc=r srgR1 e # gl 82

Options :



1. « ORI HIoT

2. % AT HTNT
3. % JI-TRIT HIN
4. % TG ST

Question Number : 11 Question Id : 25498943252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is a copy of textual or graphic information produced on paper in normal size by a computer called?
Options :

1. # Soft copy

2. ¥ Hard copy

3. % Scanned copy

4. % Presentation copy

Question Number : 11 Question Id : 25498943252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HEER GRT MY HR T BT TR dUR P 718 CRe T Mfthes SIHBRI B BT} b1 7 Hgd 82
Options :

1. % H% oIyl

2. ¥ BIS Il

3. % I8 HIUT

4. % YolegE HIUl

Question Number : 12 Question Id : 25498943253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The time taken by a device to locate data and instructions and make them available to the CPU is known as:
Options :

1. # clock speed



2. # aprocessing cycle
3. % CPU speed

4. % access time

Question Number : 12 Question Id : 25498943253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fSargy gRT ST 3R SR &1 Udt T 3R I8 CPU T IUd R o fort foran a1 Iva 1 e ardl /2
Options :

1. % il Wie

2. % YRR a% (Ashd)

3. % CPU IS

4. TR T2

Question Number : 13 Question Id : 25498943206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following file systems is supported by Windows NT 4.0?
Options :

1. ¥ FAT

2. % BSD

3. % HTFS

4. % ReFS

Question Number : 13 Question Id : 25498943206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

9 o 9 S W B1Ed UUmel Windows NT 4.0 §RT 9H{Id 82
Options :

1. ¥ FAT

2. % BSD



3. ¥ HTFS
4. ®# ReFS

Question Number : 14 Question Id : 25498943270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

With reference to semiconductor memory, select the INCORRECT statement.

Options :

1. ® Random access feature is provided by all types of semiconductor memories.

2. % Semiconductor memory provides quicker access time compared to other storage devices.
3. # Semiconductor memory can be used as primary storage.

4. ¥ Semiconductor memory reads and writes the data consecutively.

Question Number : 14 Question Id : 25498943270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

i gder HURT & TgH |, Tdd HYF &1 g B |

Options :

1. % 30 TR BIR, 9 UHR ot JHidbede AR & & STt |

2. % Y sae’ AR, 3T TR fSargdl & ga-T & 3Ifid I T IHY UeH oid! ¢ |
3. % Otdreder AARI B TEHRY @RS & ¥U H SWHTS fHa1 51 o g

4. ¢ YHiid ST’ AURY, STeT & Hife U I forg 3R Ug Il g

Question Number : 15 Question Id : 25498943272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What are different features that need NOT be considered when designing the instruction set architecture?
Options :

1. # Types of instructions

2. # Types and sizes of operands

3. % Names of operands



4. ¥ Addressing modes

Question Number : 15 Question Id : 25498943272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁé:?[ qc \H’Iﬁ%ﬂﬂ? (instruction set architecture) A %Gﬂ'&':[ HYd guy fop1 faftre faxiwarsii iR faaR & &t ez dn =r(?r %?
Options :

1. % f7d= & UbR

2. % 3RS & UHR 3R A0

3. ¢ SRS & W

4. % TgRIMTHIS

Question Number : 16 Question Id : 25498943230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following term refers for the, two or more connected computers that can share resources such as data, a printer, an Internet
connection, applications, or a combination of these resources?

Options :

1. ¥ Network
2. ¥ Domain
3. % Cluster

4. % Association

Question Number : 16 Question Id : 25498943230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frafafad # 9 SH-91 g Q1 A1 31 F S IS §T (Fdes) HHR! Bl Yafid HRdl § §il 3el, fife, Texae HarH, TEHeH o
AT 1 A1 3 AT D IS B IS DR qhdl 67

Options :

1. ¢ Acded
2. % S
3. % FCR




4. % TOIRURE

Question Number : 17 Question Id : 25498943241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A printer is classified as an impact or a non-impact printer and the classification is based on
Options :

1. # Price

2. ® Operating system

3. ¥ Printing technology

4. % Driver

Question Number : 17 Question Id : 25498943241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fifex & gHide a1 FH-3M e ffer & =0 A arfferd fbar Srar € 37k g affeszor R TR g |
Options :

1. % g

2. % SfqRfeT ReeH

3. ¢ U dbHID

4. % GIRAR

Question Number : 18 Question Id : 25498943242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an operating system?
Options :

1. % Unix

2. # Linux

3. ¥ Windows

4. ¥ MS Word



Question Number : 18 Question Id : 25498943242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
a8 A HH Te SffoRfen Rren T8 3
Options :

1. # Unix

2. % Linux

3. % Windows

4. ¥ MS Word

Question Number : 19 Question Id : 25498943246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What does the term MODEM mean?
Options :

1. ¥ Modulation and Demodulation
2. % Modern Demand

3. # Modulation and Demand

4. ® Modern Demodulation

Question Number : 19 Question Id : 25498943246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HISH (MODEM) RTeg &1 Faferiad # 9 e 31 g2

Options :

1. ¢ HTS?J\Q-‘\IQI"I TS ‘I':SH\I’S?ZLQ} R (Modulation and Demodulation)
2. % Hig fSHATS (Modern Demand)

3. % J—I\I’GRJ\Q}RI"I s f&HIS (Modulation and Demand)

4. ® T fSHISTARM (Modern Demodulation)




Question Number : 20 Question Id : 25498943247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How do you define Wired Equivalent Privacy?
Options :

1. # Itis a security algorithm (for ethernet).

2. ¥ It is a security algorithm (for wireless networks).
3. # It is a security algorithm for USB communication.

4. % It is a security algorithm for OS (operating system).

Question Number : 20 Question Id : 25498943247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

30 IS gfepaci< Ul B bal TR HRd 52
Options :

1. % Tg U JR&M @ NRYH B (3T & o) |

2. ¢ U Th JR&T TNRYA § (TR "eddh o fog)|

3. % U8 USB YUR & o0 Uah GRET SENNRUT ¢ |

4. % g OS (TR RieH) & o T JRem SeRyd |

Question Number : 21 Question Id : 25498943260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In general, LCD and LED printers produce the same print quality as the printer but at a typically much price.
Options :

1. ¥ Laser, Lower

2. % Laser, Higher

3. # Dot-matrix, Lower

4. ® Dot-matrix, Higher

Question Number : 21 Question Id : 25498943260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

I IR W, LCD 3R LED fliex fiiex & 9 fiie Turad UeH &xd &, Tid UTd: 9gd T R
Options :

1. ¢ ToR, HH
2. % TR, I
3. % gicAfea, HH
4. % gleOfewy, 3=

Question Number : 22 Question Id : 25498943201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Computer is the process of sharing data, programs or information between two or more computers.
Options :

1. % calibration

2. # backup

3. % security

4. ¥ communication

Question Number : 22 Question Id : 25498943201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

R a1 3fH HEeR] & dg ST, T A1 YT 15 HRA B UihaT |
Options :

1. % PHiereRH

2. % 9H3AY

3. % JRef

4. ¢ TOR

Question Number : 23 Question Id : 25498943215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Gaining access to a software using someone else's identity or other methods is known as:
Options :

1. # authentic access

2. % unauthorized access

3. % legitimate access

4. % authorized access

Question Number : 23 Question Id : 25498943215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fopaft 3 B UgT &1 TRRT R 31T fohat o fafyr O ol UiocdmR R Uga U@ aRA &l Hel Sl gl
Options :

1. % JEIfe Ugd

2. ¢ 3fRIPd Ugd

3. % 9y Ugd

4. % fYpd ugd

Question Number : 24 Question Id : 25498943216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The of a website ensures the computers visiting the website that the website is legitimate and features proper security.
Options :

1. # program

2. # protocol

3. ¥ digital certificate

4. % code

Question Number : 24 Question Id : 25498943216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

forlt qeaTge P JIISC TR 37 10 HECR| Bl YA HaT § b dearse 94 § 3R Ifad JRam Ua™ il ¢

Options :



1. % TUTH
2. % cIhid
3. « f&fed ymmorus

4. % BIg

Question Number : 25 Question Id : 25498943218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which file format is used to save OpenOffice.org presentation?
Options :

1. ¥ .odp

2. % sdd
3. % sdw
4, % sdt

Question Number : 25 Question Id : 25498943218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

OpenOffice.org TRG[IHRUT B HgolH & (oY DI F WA BiHe BT SUANT haT ST 82
Options :

1. ¥ .odp

2. % sdd
3. % sdw
4, % sdt

Question Number : 26 Question Id : 25498943229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The bank's code number and cheque number printed on the cheques can be detected by an reader.
Options :

1. ¥ OCR



2. * smart card
3. % MICR
4. % barcode

Question Number : 26 Question Id : 25498943229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

9P W fiies dF & BIS AR SR IH R H1 Tal ISR GRT AT o WhelT 5|
Options :

1. % 38R (OCR)

2. % W HIS

3. % MICR

4. % gRPIS

Question Number : 27 Question Id : 25498943237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The MP3 compression format is:

Options :

1. ¥ lossy format

2. % lossless format

3. * sound exactly like the original recording

4. % sound better than the original recording

Question Number : 27 Question Id : 25498943237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
MP3 HUTESH HIHe F1 5?2

Options :

1. ¢ BIFNHRS BiHc (lossy format)
2. % BIRIEd Bidc (lossless format)



3. % i 7d RepitaT &1 aRE Bidil o
4. % @ o RIS Y srT il ©

Question Number : 28 Question Id : 25498943221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are different 3D Printing technologies?
Options :

1. # Fused Deposition Modeling

2. # Fused Filament Fabrication

3. # Selective Laser Sintering

4. ¥ All of the given options

Question Number : 28 Question Id : 25498943221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
faferad 7 9 -, faftr 3p e de-ie g2
Options :

1. # WS fEuiforRM Arsfem (Fused Deposition Modeling)
2. % s fireiTHe WS- (Fused Filament Fabrication)
3. # Rydifdea doR e (Selective Laser Sintering)

4. ¢ feu T g4t fasbey

Question Number : 29 Question Id : 25498943231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is used by ALU to store intermediate results while executing computer programs?
Options :

1. ¥ Accumulator

2. % Pen Drive

3. # Hard Disk



4. ¥ Compact Disk

Question Number : 29 Question Id : 25498943231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HR UMW &1 fFefed HRd T qerad! gkl &) SIEid $3- & it ALU gRT A8 § ¥ fosget Suai foar ot g2
Options :

1. ¢ W(Accumulator)

2. % U g2

3. % 18 few

4. % B f$%H

Question Number : 30 Question Id : 25498943262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

When parent process is killed before its child is killed and the init process becomes its new PPID (Parent Process ID). At that time these
processes are called as

Options :

1. ¥ Orphan process

2. % Zombie process

3. ¥ Non parent process

4. ¥ Stray process

Question Number : 30 Question Id : 25498943262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

O I136S U1 &) fhd B3 § Uga W WAy &1 fovdt foran SIrar @ o init U S9! T3 PPID (U UIY 311%.S1.) 81 ofcl 8 1 39 Iy
ESLIBRIEa] IS

Options :

1. ¢ 3RBA Ud

2. % Hird greg

3. % 4 W< ey




4. % LYY

Question Number : 31 Question Id : 25498943202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In the Internet Explorer browser, you can see a thumbnail view of all the open tabs. You should select ' ' option to view web pages.
Options :

1. # Preview

2. % Normal

3. % Quick Tabs

4. % Favourites

Question Number : 31 Question Id : 25498943202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3T Internet Explorer STISR & Gl G} &l & Uadl 0 ®I ¢W Thd ¢ | 99 USll &l ¢+ & fg ofuesy '+ faded g1 anfeT
Options :

1. % fUog

2. % A1

3. ¢ @d ey

4. % Thalkcy

Question Number : 32 Question Id : 25498943207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In which tab of MS Word 2016, is the Format Painter option available?
Options :

1. % Insert

2. % Home

3. % Edit

4. % Format



Question Number : 32 Question Id : 25498943207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

hiHc Uex fadhed MS Word 2016 & fbg ¢ & U 82
Options :

1. # Insert
2. % Home
3. # Edit

4. * Format

Question Number : 33 Question Id : 25498943208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following shortcut keys is used to paste the clipboard contents in an MS-Word-2013 document?
Options :

1. % Ctrl + X

2. % Cul+2Z

3. % Cul+C

4. % Ctrl +V

Question Number : 33 Question Id : 25498943208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS-Word-2013 SIFRIAC T fFauaie Al & U $H=- & e -8 I 9 forg iicdhe groit BT SUANT [T ST 82
Options :

l. % Ctrl + X

2. % Ctrl+ Z

3. ® Ctrl +C

4. ¥ Ctrl +V

Question Number : 34 Question Id : 25498943220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What would you use for immediate and real-time communication with a friend?
Options :

1. # Dry net

2. % Usenet

3. # E-mail

4. ¥ Instant messaging

Question Number : 34 Question Id : 25498943220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

39 i & 1Y deb T 3R Saa-c1gH HRIADHIA & forT F1 SUT Heal
Options :

1. # Tﬁ"lé ¢ (Dry net)

2. % goC (Usenet)

3. % 3.0 (E-mail)

4. ¢ T TR (Instant messaging)

Question Number : 35 Question Id : 25498943224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In the following figure of MS Word 2016, the size icon refers to the:

File Home Insert Draw D

o i D E

Margins Orientation Size Columns

e - - w

Page Setup

Options :



1. ¥ page size
2. % text area of the document
3. #® margin settings of the page

4. % font size in the document

Question Number : 35 Question Id : 25498943224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST &) 918 31TRfA A, MS-Word 2016 &I H18HT (size) 3T et A & fordt Fefefa awar g2

File Home Insert Draw D

0 > D E

Margins Orientation Size Columns

w - e wr

Page Setup

Options :

1. ¥ U8 TP

2. % SigHc H1 U6 &

3. % g§ &1 Ao AfeT

4. % glagie B B IR

Question Number : 36 Question Id : 25498943226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following features of MS Excel is used to quickly copy content and paste it into adjacent cells in the same row or column?
Options :

1. ¥ Format Painter

2. ¥ Fill Handle

3. % Auto Format

4. % Clear Formatting



Question Number : 36 Question Id : 25498943226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

%s%%ﬁmﬁﬁﬁq—@ﬁﬁwamﬁaﬁﬁwﬁﬁweﬁ?ﬂﬁﬁmqﬁmuffeﬂw Jd H U B & fore IuaT
?

Options :

1. % e U

2. ¢ hagsd

3. % 3ficl wide

4. % TR BIHfCT

Question Number : 37 Question Id : 25498943233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

With reference to tracking changes, the Reviewing Pane command shows revisions in a separate in MS-Word 2019.
Options :

1. ¥ pane

2. ®% column

3. ¥ comment

4. ¥ page

Question Number : 37 Question Id : 25498943233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

& o o Y H, R U9 HATS MS-Word 2019 & S{ET 7 Rfasa &1 g2iid g

Options :
1. 09
2. % Py
3. % HUcH
4. % U9



Question Number : 38 Question Id : 25498943244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Envelopes and Labels commands from Create group are in the tab of MS Word 2016.
Options :

1. # Home

2. ¥ Mailings

3. % Page layout

4. % References

Question Number : 38 Question Id : 25498943244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TGy 3R A9d HHTS, MS Word 2016 & ¢d & fobue U & AI9G 81d g
Options :

1. # g-Tq(Home)

2. ¢ A (Mailings)

3. % U9 Q3f3e (Page layout)

4, % THIY (References)

Question Number : 39 Question Id : 25498943264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the default file extension for documents of Microsoft Word 2007 and later versions?
Options :

1. * txt

2. % .word

3. % .docs

4. ¥ docx



Question Number : 39 Question Id : 25498943264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Microsoft Word 2007 31R &1 & TR0l & SIaHe & fog fSthice Wigd T &1 /7
Options :

1. # .txt

2. % word
3. # .docs
4. % docx

Question Number : 40 Question Id : 25498943211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The first e-mail was sent in the year:
Options :

1. % 1971

2. % 1974

3. % 1976

4. % 1978

Question Number : 40 Question Id : 25498943211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TH 3-0d fobg v # Wel T Y1
Options :

1. ¥ 1971

2. % 1974

3. % 1976

4. % 1978

Question Number : 41 Question Id : 25498943213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

How can I view my transaction history in BHIM?
Options :

1. # Go to BHIM Home Screen - Money option
2. ¥ Go to BHIM Home Screen - Transactions
3. % Go to BHIM Home Screen - Bank account
4. % Go to History & Pay

Question Number : 41 Question Id : 25498943213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

tlie) (BHIM) U0 & A1eFH ¥ fhu U oA (transaction) DI B T S Fehal %?
Options :

1. % T (BHIM) &1 81 TP TR TMT - HT (money) fdhed ¢

2.« WiF (BHIM) &1 819 ThIH TR ST - A (transaction)

3. % iH (BHIM) & 811 TpIF IR WME- §F 3BT (Bank account) S

4. % g1 TS U (History & Pay) O SITQ

Question Number : 42 Question Id : 25498943214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
chart is useful in showing comparisons among individual items in MS Excel.
Options :
1. ¥ Bar
2. % Stock
3. # Map
4. ® Line

Question Number : 42 Question Id : 25498943214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AT MS Excel H S{CT-3TH AG] & &g gl fa@™ J SUant g



Options :

1. ¥ &R (Bar)

2. % WIP (Stock)
3. % ﬁU(Map)

4. ® g (Line)

Question Number : 43 Question Id : 25498943227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Select the pagination control in the Line and Page Breaks tab in MS Word 2013 to fill in the given blank.

prevents breaks between paragraphs you want to keep together.
Options :
1. # Widow/Orphan control
2. # Page break before
3. % Keep with next
4. ¥ Keep lines together

Question Number : 43 Question Id : 25498943227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

faq 7Y Yo I P 4RA & oW MS Word 2013 ﬁﬁ@ﬁ?ﬁﬂ%%@ﬁmwmagination control)ﬁ?m:fﬁl
IRTUT & sitd H s B Achdl & FOIY 31U U A1 @1 9164l 6|

Options :

1. % fggysiiha ﬁ,\ﬁ (Widow/Orphan control)
2. % US §ep fIbR

3. % I fdg Ao

4.« DY A GG

Question Number : 44 Question Id : 25498943228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

If you want to add some punctuation in place of AND, how will you use Find & Replace in MS Word 2007?
Options :

1. # No replacement can be done

2. # Ctrl + F, then type AND, then in the Replace With column, type your desired punctuation

3. # Ctrl + G, then type AND, then in the Replace With column, type your desired punctuation

4. ¥ Ctrl + H, then type AND, then in the Replace With column, type your desired punctuation

Question Number : 44 Question Id : 25498943228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

%Word 2007 H TS 3110 TS (AND) & UfARIToA H Fe5 faR g Shis1 a18d € af 31U WSS 3R R@Y (Find & Replace) &7 SUTNT B
?

Options :

1. % 18 UfaRTo 78T fara S Gha §

2. % Ctrl + F, TR TS (AND) T180 &, foh R fag Siaw & 310 gifed fav fag ersg &1
3. % Ctrl + G, TR US (AND) T30 I, fh Rwe¥ faq sierd # 310 qifesd formd fag ergy o
4. ¢ Ctrl + H, TR TS (AND) <130 &, T Ry fag wiad H 31U+ aifed foxm g ersg o

Question Number : 45 Question Id : 25498943232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Raghu is working on a Word document. When he types (C), AutoCorrect promptly inserts the symbol.
Options :

1. ¥ copyright

2. % trademark

3. % arrow

4. % happy face

Question Number : 45 Question Id : 25498943232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



g Word STagAC T H1H X 81 ¢ | 9Id 39 (C) T13Y fohan I, 3fiel dHae qid Udiies IiRferd BT B |

Options :

1. ¥ BIURZC

Question Number : 46 Question Id : 25498943234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In MS Word 2010, if 'Gutter' is extra space added to the side margins, then gutter size CANNOT be measured in
Options :

1. # inches

2. # points

3. % number of lines

4. * millimeters

Question Number : 46 Question Id : 25498943234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2010 H, TfE TTeR (Gutter), ATSS HIfSH H Siia! T3 Sifafad W €, ) Tex & 3MHR & H 8 {11 ST ghar 2|
Options :

1. % 39

2. % Uige

3. ¢ WIS Bl G-

4. % foefidiey

Question Number : 47 Question Id : 25498943235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is the way to draw a table in MS Word 2013?



Options :

1. #® Click the Design tab, then move to Tables group and select Draw Table.
2. % (Click the Review tab, then move to Tables group and select Draw Table.
3. # Click the View tab, then move to Tables group and select Draw Table.
4. ¥ Click the Insert tab, then move to Tables group and select Draw Table.

Question Number : 47 Question Id : 25498943235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS-Word 2013 § 2 ST P & dilpT o1 &2

Options :

1. % fSoe 9 W faas &3, bR ¢od Ju § 9 3R g1 ¢ad I
2. % RY TR faas &3, R aa Ju H 9Y 3R 3T ¢adt g

3. % g9 R fFas oY, AR ood Ju # 91T 3R T e g

4. ¢ 3¢ TR fFad Hx, fhr T9a Ju # oMY 3R 1 ead g

Question Number : 48 Question Id : 25498943263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
layout is useful when you want to reduce the pivot table width and are NOT concerned about the Row field headings in MS Excel 2007.
Options :
1. # Tabular Form
2. # Qutline Form
3. ¥ Compact Form
4. # Design Form

Question Number : 48 Question Id : 25498943263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2007 H A3 dd IUTNT 8ld1 & O MY fUde ead SIS B HH BT I8d 1, 3R Ufed wice T T Yo Ag) 5|

Options :




]. ® TSR BiY
2. % I3z BiH
3.  PHIHaE BIH
4. % fgSTg WHIH

Question Number : 49 Question Id : 25498943225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Study the given figure and fill in the blank with the most suitable option.

are great for documents with facing pages, like bound reports or newsletters.

Options :

1. # Wide margins

2. ® Moderate margins
3. % Narrow margins

4. ¥ Mirror margins

Question Number : 49 Question Id : 25498943225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
7 U 77T o &7 3nam 3 SR Iugad faded ¥ Rad RIF &1 i H1 |

JORd Ol aTdl SlagHe & fore AR 3t A St B, S oS Rule a1 geiaed |




1side mangu

Options :

1. % qgs Ao
2. % Hie¥e AT
3. % R AR
4.« TR AR

Question Number : 50 Question Id : 25498943243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How can you change the case using keyboard shortcuts in MS-Word 2016?
Options :

1. ¥ SHIFT + F2

2. % SHIFT +F1

3. % SHIFT + F4

4. ¥ SHIFT + F3

Question Number : 50 Question Id : 25498943243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 & BIHIS Ycdme BT TN B 3T &9 (case) &Y FCd IHhd 87
Options :

1. % SHIFT + F2




2. ® SHIFT +F1
3. % SHIFT + F4
4. % SHIFT + F3

Question Number : 51 Question Id : 25498943245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The 'Select Recipients' feature in the Mailings tab belongs to which of the following steps of the mail merge process in MS Word 2016?
Options :

1. % Second

2. % Fourth

3. # Fifth

4. ¥ Third

Question Number : 51 Question Id : 25498943245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 ﬁ, AfRRT 29 & U araei o7 T B (Select Recipients)' Wﬁﬁqﬁfm%ﬁgmﬁﬁﬁmWﬁW%V
Options :

1. % G

2. % 91Y

3. % Uigd

4. v AR

Question Number : 52 Question Id : 25498943273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

With reference to Blue-ray encoding, which of the following is HD codec?
Options :

1. ® H.261

2. ® H.262



3. # H.263
4. ¥ H.264

Question Number : 52 Question Id : 25498943273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

S THIET P e §, Fg H A SH-ATHD ISP 32

Options :

1. ®= H.261

2. % H.262

3. * H.263

4. ¥ H.264

READING COMPREHENSION

Section Id : 2549895043
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895084
Question Shuffling Allowed : Yes

Question Id : 25498943254 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (53 to 57)
Read the following passage and answer the questions:



The Influence of Indian Languages on English

Britain first established a presence in India in the seventeenth century, and ruled the subcontinent directly from 1876 to 1948. In order to
communicate with the local people, the British who lived and worked in India had to learn words from native languages.

As a result, many Indian words were absorbed into English. Languages such as Hindi, Urdu, Bengali and Tamil provided names for the various
spicy dishes collectively known as curry, the pickle called chutney, the fruit called mango, and the drink called punch. Production of cheap cloth
for the British market introduced chintz, calico (originally from the town of Calicut), and Khadi.

The names of several kinds of clothing were also borrowed, including the cummerbund, jodhpurs (after the town of Jodhpur), and pajamas.
India’s architectural novelties introduced such terms as bungalow and veranda, while in their leisure hours British settlers in India might sail in a
dinghy or even a catamaran. British servicemen would refer to any man as a wallah, particularly when identifying him by his profession - for
example: a punka wallah operated a fan. Other Hindi words that have become standard in English include shampoo, pundit, guru, loot, and
juggernaut, while English-speakers still talk about the benefits of a cushy job, and recognize when something is pukka.

Sub questions

Question Number : 53 Question Id : 25498943255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Why did the British feel the need to learn words from Indian languages?
Options :

1. # To rule the country

2. ¥ To speak to local people

3. % To be able to live comfortably

4. # To make people do their work

Question Number : 54 Question Id : 25498943256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a word that English has borrowed from an Indian language?
Options :

1. # Curry

2. # Chutney

3. % Cushy

4. ¥ Cookie



Question Number : 55 Question Id : 25498943257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The words 'chintz' and 'calico' refer to:
Options :

1. * kinds of clothing

2. # gpicy dishes

3. % types of cloth

4. ® professions

Question Number : 56 Question Id : 25498943258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following words did the British take from the name of a place?
Options :

1. ¥ Jodhpurs

2. % Dinghy

3. % Punka

4. % Cummerbund

Question Number : 57 Question Id : 25498943259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Who would find the information in this passage useful?
Options :

1. ¥ Language researchers

2. % Dress-makers

3. # Travel planners

4. % Government officials

Question Id : 25498943254 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (53 to 57)

faferRad e &7 ufeu 3k usi & IR ST
3T R YR HTNT31 ST UHTd

fed A Y9 Ugel T=gdl Xdlsal  URA T g &I X aRg O RO fordl quT 1876 H 1948 T 39 IUHGTE Y IR Y& FU I R fobaT|
YT A & 1Y Tt B & foll, HRd H 3§ aTdl 3R BT B34 aTdd 30l Y =i HIWTSH & Wea) ol TG1 UST|

ORUMRGEY, Fs HR Xsg 3t # faeli= 81 | &, 3¢, smeft ok aftra Sift st & fafts memieR aioHi & IMfed ©u
H & TG T ST 8, 3R DI I, A B 3 3R S B Ud el 9al g | 3w SR & o Id $us & Idre ¥ fofew,
ST (A U I Pelide R ) 3R [ Weq P YR g

H3 UHR & DTS & A H I3 MY, o HHRae, STUQRT (SHYYR e & 916) 3R TRISTH A 3| R &1 RN ST H S

3R SRS SR Weg] B Y3 B8, STafdh HRT & F9 aTel fSe=T AT 30 a1 & 0T & Uas f&Tt a1 Hedr- § off ora 9| fafewr

A fpdt +ff safad &) arel & U H et Hd A, W6 19 98 31U U= I UgET STdT UT - 31801 & foId: Teh U1 aTal, Sl U]

AT AT | S T AHS &7 aTd 3= Rl 2req oI fob R, 1fSd, 7%, e 3Tk FFRATC WM &, STafd sifion-gadr et off siRmee®
T & TMH & TR H 10 HRA & IR BB & 19 3G A1 Uadb! g |

Sub questions

Question Number : 53 Question Id : 25498943255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SIS DT YR UTNTSHT ¥ Xeg YRGB! SATTRIH T 1 HEqH 837
Options :

[. % TRTUR YR B & o8

2. R A Y 1 HRA & g

3. % 3R G UH & g

4. % A Y IPT BTH D & Y

Question Number : 54 Question Id : 25498943256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frafafad & & fr weg of SFIeh & yRdg Hron 3 =1 ferar man 82

Options :



1. % B
2. % gt
3. % IRMUCHD

4. ¥ DD

Question Number : 55 Question Id : 25498943257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Options :

1. % q%l &b UDHR

2. % HHIGR ol

3. ¢ HUS b UPR

4, % UR) (TO9T)

Question Number : 56 Question Id : 25498943258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3T 3 ol I o AW R MR H 4 i 91 Weg feram
Options :

1. ¢ SHYQR

2. % f&4

3. % U5l

4. % dcC

Question Number : 57 Question Id : 25498943259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3 TR B & 1 SHeR 5 Suantt @ty
Options :

1. ¢ Y91 MYl

2. % 39 At



3. % g AIh

4. % WHRT HfYBRT

QUANTITATIVE APTITUDE
Section Id : 2549895044
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 2549895085
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498943240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What should come in place of the question mark (?) in the following expression?
2 o o
(V5—2) =7-+80

Options :
| % 4/5+4

2. % 45

3% 9— 45



4.4 9

Question Number : 58 Question Id : 25498943240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e oo & woa e (?) & T 9T ST @ g&ar e
(V5—2)" =7—80

Options :
| % 4V/5+4

.
3.8 9= 45

4. 9

Question Number : 59 Question Id : 25498943266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Find the approximate value of the following. (You are not expected to calculate the exact value)

16.978 + 27.007 + 36.984 — 12.969—-9.003 =7
Options :

1. % 72

2. % 42

3.¥59



4. % 51

Question Number : 59 Question Id : 25498943266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frafeiad &1 s/ A9 I ST (3D Tt T &1 T0HT g1 BT ] 1)

16.978 +27.007 + 36.984 — 12.969 — 9.003 = ?
Options :

1. % 72

2. % 42

3.¥59

4, % 51

Question Number : 60 Question Id : 25498943238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The average age of 80 boys in a class is 15. The average age of a group of 15 boys in the class is 16 and the average age
of another 25 boys in the class is 14. What is the average age of the remaining boys in the class?

Options :
1.« 15.25

) ® 14
3 ® 14.75

4 % Cannot be determined

Question Number : 60 Question Id : 25498943238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FeTT H 80 W T AT 3 15 &1 F&T H 15 FSH & U GAG BT AT g 16 § AR F&7W 7 25
e TISH HT A HY 14 §| FAT & AW A5 @ HAa g e g2

Options :
| v 15.25

% 14

s % 14.75

, « TTRE FE H AT THAT

Question Number : 61 Question Id : 25498943239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What should come in place of the question mark (?) in the following number series?

12 12 1§ 36 9 218 17

Options :
1« 945

>, % 810
3 % 1080
4 % 1215

Question Number : 61 Question Id : 25498943239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
fr=fafeT a7 @8 & woa e (?) & T W FiT @ g&3T T
12 12 18 36 90 270 ?

Options :
1 v 945

, % 810
3 % 1080

4, = 1215

Question Number : 62 Question Id : 25498943267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Evaluate the following

475 + 64% of 950 =900 + ?
Options :
1.« 183
o % 233

3 % 1983

4 % 1863

Question Number : 62 Question Id : 25498943267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

faferRad &1 gedic &<
475 + 64% of 950 = 900 + ?

Options :
| v 183

, % 233
3 % 1983

, % 1863

Question Number : 63 Question Id : 25498943268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The ratio between the three angles of a quadrilateral is 3 : 5 : 9. The value of the fourth angle of the quadrilateral is 71°.
What is the difference between the largest and the smallest angles of the quadrilateral?

Options :

1 % 82°

5 % 106°

Question Number : 63 Question Id : 25498943268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
| % 82°
5 % 106°
3 o 102°
4% 92°
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Question Number : 64 Question Id : 25498943249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Three words are given, which are related in some way. Select the option in which the three words are related in the same way.

Bone : Skeleton : Nerve
Options :

1. # House : Door : Window
2. % Spoke : Wheel : Handle
3. % Retina : Eye : Pupil

4. % Snow : Cloud : Ice

Question Number : 64 Question Id : 25498943249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 25498943250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Select the term that is related to the third term in the same way as the second term is related to the first term.

ADE : FGJ :: KNO : ?
Options :
1. ¥ PQR
2. ¥ PQT
3. % RQP
4. % TPR



Question Number : 65 Question Id : 25498943250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0
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ADE : FGJ :: KNO : ?
Options :
1. ¥ PQR
2. ¥ PQT
3. ¥ RQP
4. % TPR

Question Number : 66 Question Id : 25498943223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Affirm is related to Hint in the same way as Charge is related to:
Options :

1. ¥ Insinuate

2. # Reject

3. # Convince

4. % Deny

Question Number : 66 Question Id : 25498943223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ SRR

2. % 3[ipd

3. % HHAMI

4, % qADRAI



Question Number : 67 Question Id : 25498943248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Select the alternative with the most appropriate description about these three words.

Madras : Visakhapatnam : Rangoon

Options :

1. #® They are Indian naval bases.

2. ¥ They are ports situated on the coast of Bay of Bengal.
3. # They are capitals of states.

4. ® They are famous for their architecture.

Question Number : 67 Question Id : 25498943248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 25498943251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In each of the following, four words have been given, out of which three are alike in some manner, while the fourth one is different. Choose out
the odd one.

Options :
1. #® Vikramaditya
2. ®% Chandragupta



3. # Harshavardhana

4. ¥ Chanakya

Question Number : 68 Question Id : 25498943251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. % fasarica

2. % i

3. % guadq

4.« TIUIR]

Question Number : 69 Question Id : 25498943265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
There is a certain relationship between the first two words. Select the correct option which has the same relationship with the third word.

Squint : Eye :: Squeeze : ?
Options :

1. # Torgue

2. % Cloth

3. % Throat

4. ¥ Hand

Question Number : 69 Question Id : 25498943265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :



2. % dhUgl
3. % &g
4. ¥ gIY
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Question Number : 70 Question Id : 25498943236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The XXIV Summer Olympic Games were held in the year:
Options :

1. % 1986

2.9 1988

3. % 1984

4. % 1980

Question Number : 70 Question Id : 25498943236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 1986

2.9 1988

3. % 1984

4. % 1980

Question Number : 71 Question Id : 25498943274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following countries has Red River Delta?
Options :

1. # Japan

2. # Indonesia

3. ¥ Malaysia

4. ¥ Vietnam

Question Number : 71 Question Id : 25498943274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® S

2. % SSHRME

3. % HAR™

4. fagdam

Question Number : 72 Question Id : 25498943199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
First Industrial Policy of free India was announced in the year:



Options :
1. % 1947
2.9 1948
3. % 1951
4. % 1956

Question Number : 72 Question Id : 25498943199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 1947

2.9 1948

3. % 1951

4. % 1956

Question Number : 73 Question Id : 25498943222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following is an international river?
Options :

1. ¥ Brahmaputra

2. ® Cauvery

3. ¥ Mahanadi

4. % Narmada

Question Number : 73 Question Id : 25498943222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :



1. ¢ S
2. % PHIa
3. ® Hgd!
4. % THar

Question Number : 74 Question Id : 25498943200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

During the time of which Mughal Emperor did the English East India Company establish its first factory in India?
Options :

1. # Akbar

2. % Jahangir

3. # Shahjahan

4. % Aurangzeb

Question Number : 74 Question Id : 25498943200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® 3Pha}

2. ¢ IR

3. % WESTel

4. % IR

Question Number : 75 Question Id : 25498943261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The bones of birds are:

Options :

1. # strong and solid.



2. # soft and solid.
3. % pneumatic and light.

4. % calcareous and heavy.

Question Number : 75 Question Id : 25498943261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 25498943276 Question Type : TYPING TEST Display Question Number : Yes

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 25498943275 Question Type : TYPING TEST Display Question Number : Yes

Rainwater harvesting is the collection and storage of rain water rather than allowing it to run off. Rainwater is collected from a roof like
surface and redirected to a deep pit or a reservoir with percolation so that it seeps down and restores the ground water. Dew and fog can
also be collected with nets and other tools. Rainwater harvesting differs from storm water harvesting as the runoff is collected from roofs
rather than creeks and drains or roads and any other land surfaces. Its agricultural uses include use for livestock and irrigation. It can
be used domestically for watering gardens or personal use with proper treatment and domestic heating. The harvested water can also be
committed to longer term storage or groundwater recharge. Rainwater harvesting is one of the simplest and oldest methods of self
supply of water for households. Residential and household scale projects are usually financed by the user. However larger systems for
schools and hospitals or any other facility can run up costs which can only be financed by owners of organizations and governmental
units. In urban areas agriculture rainwater harvesting reduces the impact of runoff water and flooding. Rainwater harvesting in
conjunction with urban agriculture would be a viable way to help meet the United Nations Sustainable Development Goals for cleaner
and sustainable cities. It will also provide health and wellbeing along with food and water security. The technology is available however it
needs to be remodelled in order to use water more efficiently especially in an urban setting. Kenya has already been successfully
harvesting rainwater for toilets and laundry as well as irrigation. Since the establishment of the country Kenya has prioritized the
regulation of their agriculture industry. Additionally areas in Australia use harvested rainwater for cooking and drinking. Studies done
by Stout researching the feasibility in India found that Rain water harvesting was most beneficial if used for small scale irrigation which
provides income with the sales of produce and the overflow can be used for groundwater recharge. Five Caribbean countries have shown



that the capture and storage of rainwater runoff for later use is able to significantly reduce the risk of losing some of the harvest of the
year because of soil or water scarcity. In addition the risks associated with flooding and soil erosion during high rainfall seasons would
decrease. Small farmers and especially those farming on hillsides could benefit the most from rainwater harvesting because they are able
to capture runoff water and decrease the effects of soil erosion. Many countries especially those with arid environments use rainwater
harvesting as a cheap and reliable source of clean water. To enhance irrigation in arid environments ridges of soil are constructed to trap
and prevent rainwater from running down hills and slopes. Even in periods of low rainfall enough water is collected for crops to grow.
Water can be collected from roofs or dams and ponds can be constructed to hold large quantities of rainwater so that even on days when
little to no rainfall occurs enough is available to irrigate crops. Rainwater harvesting provides the independent water supply during
regional water restrictions. It provides water when a drought occurs. It can help mitigate flooding of low lying areas and reduce demand
on wells which may enable groundwater levels to be sustained.
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